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How do we assess — PR TXD

OVERVIEW

The mwn states the case where 07V testified that a man divorced his wife and did
not pay the 721n2; and these 07y were oni. Let us assume that the amount of the
entire 72103 is a hundred 71n. Seemingly these 07y wanted the husband to pay his
wife a hundred 7n (for no reason); therefore if they were ani they should pay the
husband a hundred 712. However (as the miwn continues) there is the possibility
that eventually, the husband will pay the 721> to the woman (if he divorces her or
he dies before her), so we cannot say that the 27 caused a loss of a hundred 71,
since he might pay it to her anyway. The m1wn rules that we assess the value of the
72N> as of today;' [presumably’] by assessing how much will a person be willing
to pay to the woman to purchase her rights to the 721n3; meaning that if she is
widowed or divorced (it is beneficial to the buyer, for he will receive the entire
7210 of a hundred 711n), and if she predeceases her husband, the buyer receives
nothing. Thus they buyer, who is speculating, will not be willing to pay the woman
the entire face value of the 172105 (a hundred 7737), because there is a chance that he
will receive nothing in return for it (if she predeceases her husband); rather he will
pay her a discounted price (let us assume forty 7112 [or 40% of the face value)).
This is the assessed value and with this the 71w concludes. The X723 immediately
asks 1w 7%°2, meaning that it is still not clear from the 71wn how do we assess the
punishment for the 2’11 0*7¥; are they required to pay this assessed amount of the
mwn (the forty mm),” or does the 71wn mean something else. Moo explains this
question and the options of how much the 2°7¥ should pay.

Let us assume that the husband set aside a field (worth one hundred 771») for the
720> payment. Both the husband and the wife have rights in this field while they
are married. The husband currently owns the field and it will belong to him
completely if he outlives his wife, and the wife has a right to this field since it will
belong to her if she is widowed or divorced. Both the husband and the wife can sell
their rights in this 72102 field to a potential buyer. The price they receive is their

" The value if any item (including a potential claim) can be assessed by finding what people will pay (for the right to
make this claim).
% See (text by) footnote # 18.
? The Py 279 need to pay the loss they attempted to cause the husband (not the wife). The assessment of the mawn
tells us the value of the 721> for the wife (how much it is worth to her), not for the husband. Therefore the 71wn
cannot mean that the 0>7¥ pay the husband the woman’s monetary interest in the 772103.
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value in the field.* The 11 0°7v wanted to make him lose his right in the field (he
would have to give her the whole field and retain nothing for himself). The 27V
7M1 are required to pay him the value of his right in the field. The X773 proposes
two ways in which to establish the value of his right, which the Pnmir 07w
attempted to deny him.

The &322 (when saying 7w 7¥°2) is asking how to assess -
- YT ONN AN PHNN NONY N7 “NNAINA Y25 19 WY Mt IMN

That (value of the) right which the husband has in the 720> field while she is

married to him, which is more than his rights in the 721n> when he divorces her

(at which point his right amounts to nothing). The reason there is such a question is -
= ©9994 732 PHNN XONY NN JYAY 1D YIY N %99 IMN NI NHNY 29Y

Because you can find (or explain) that advantage (right) which the husband has

while she is married to him, in two ways -

- MW NN BXY 99590 MaT INRY 91913° DX TANN
One is if the husband will sell someone his speculative right so that if she dies,
the husband will inherit her (meaning this 721> field) and it will belong to the buyer,
since he bought this right from the husband. We can then say that the price that the husband will
be receiving for this sale is the amount the P11 2°7v would cause him to lose’ and that is what

they need to pay. This is one way to assess his value.
= NP2 MIT INYNN NIP? NI NV

And a second way to assess the value of his right is that the husband buy from his
wife her speculative right, meaning -

- 5250 0972 99 19N XIAY YN IN JNINNN ONY
That if she becomes widowed or divorced, the 712103 will belong to him or his
estate, so in this case the wife will sell her rights to the husband for less money

than the husband will receive if he sells his rights to an outside party -
= 1290 MOT NN 9191Y BN 1Y 1At 1D N9Y MY 123¥2)

*If the wife sells her rights, the buyer will own the field, only if the woman is widowed or divorced. If the husband
sells his right, the buyer receives the field now but will have to relinquish it if the woman is widowed or divorced.
He can keep it only if the wife predeceases the husband. See later in this msoin.
3 See ‘Overview’ that we are assuming that there is a field set aside for the 712105 (in the amount of the 7121n2); so
when we mention 72103 in this discussion we are referring to their respective rights in this field.
® This sale is speculative (doubtful) for if he divorces her or predeceases her, the buyer receives nothing and loses
his entire investment.
7 If we would have accepted their testimony, the woman would receive the 72103 field and the husband could not
receive anything for his right, since he has no more rights; it belongs to the wife entirely,
¥ moon will shortly explain why the value of her rights are less than the value of his rights.
% The n"27 M7 amends this to read, 7% AMNR? 1P°D0 NIDT KT MM? X2 aRA (instead of 7%°2 100 NIDT R NIN? ORA).
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So in this (second) assessment the husband’s rights are greater,10 than in the
(first) assessment where the husband would sell his speculative right.

nvoIN clarifies:
= 1132 73 PN Y 1N 1290 MAT 991D X2 ON N3N /P ANAINI NNYAY Y90 1895

How is this; if her 721> was for a hundred m1%; if the husband wishes to sell his

speculative right the buyer will pay him fifty 17 (for instance) -
- 0% 7972 1131 9 19 HPHNN NIDY N2 NI 599 HYAN MY NI

It turns out that how much is the right of the husband in this 72105 field as long

as she is married to him; it is valued at fifty 771 in this manner of assessment —
- 12;‘!)}: 79 997 NIV NNAIND NI NIV

However, if she sells her ;120> rights (to the husband), the value of his right is
sixty ;an.

Mmoo now explains the discrepancy in the value of their respective rights:
= 190 MO MO MY NPV MIT PRV 29Y

Since her speculative right is not worth as much as his speculative right -
- x95921) X9DNN XD T PN NINY NN

Firstly he is continually in possession of the 721> field, and she is lacking

collection -
= N N9 AN2INY 1NN PPN M2 Tnn 59IN XYY TV

And additionally the price the husband receives is greater because the husband

' His right to the 72105 field is the value of the field [(100 71n), for now the 12103 field is entirely his (since he
brought off her rights)] less the amount he is paying her for her rights (40 7111 [see ‘Overview’]), meaning it is 60 711
or 60%.
' If the pmmy 079 would not have testified, the husband could have made 50 73» (and not worry about paying his
wife the 721n3). The 0°7v caused him a potential loss of 50 711», since he would need to give his wife this 72103 field
and retain nothing for himself. Therefore, according to this assessment, the 0>7v should pay the husband 50 f1n.
"2 moown will shortly explain why the husband receives more for his right than she receives for her right (even
though the speculation for either buyer (from the husband or from the wife) is the same. Therefore if her right is
worth (only) 40 71 (as opposed to his right of 50 711) the husband can pay her 40 73 and retain the 72102 field
outright, which is worth 100 711, so the value of his total right (which is what the 127 07V wish to deny him) is
100-40 or sixty m1n (as opposed to the value of his right according to the other assessment which is (only) 50 7.
According to this method of assessment the 1"mn17 2°7¥ would need to pay him 60 7111 (not 50).
" Let us assume that there is 50% chance either way (whether she gets the 72105 field or he gets it); if someone is
buying her right to the field he will not give her the full 50% value of the field, for he will tell the woman, even if
you get the field, I still need to take away the field from your husband [who is now in possession of the field (or his
heirs; who will then be in possession)]. I will need to prove that you are currently divorced and previously married
to this person; I will need to prove that that you did not receive your 112103 yet, etc. etc. Therefore it is not worth for
me to give you 50%, but rather 40%. Regarding the buyer from the husband, however, he can take the property
immediately.
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(and subsequently the buyer) continually consumes the produce of the

designated ;72105 property,'* but not the wife.
= 1132 752 1290 MOt 9991 NIIYI a0

So therefore (as a result of these two advantages the husband has over the wife),

in a case where he sells Y222 n2t for fifty /7am -
- $m31 /133 ANNY 1N PH¥aY 10 NP9 MY N9 NUNRN

The woman will sell 77559 n127, whether to her husband or whether to someone
else, for (only) forty man -

- 1139 7152 13 7P YV NINN Y319 XANY NP0 MAT INYNN NIPIY 1Y 991
So here you have it that the husband can buy from his wife ;72320 n127 so that he

will own the entire 7712105 field worth one hundred 7% for only forty % -
= WADTD NN 7O PHNH NXAY 1113 DYAN MO N 19 NDIY NT 7972 ROWM

So now if the assessment is done in this manner (assessing the wife’s right), the
value of the husband’s right in the 721> field as long as she is married to him
(which the Pnamr 07y attempted to deny him) is sixty ;722 as I have explained -

- AP2O0 MATA JIPY DY DTN NN DYNRY 1PAUYT 19BN 3 1PIY 1853 159 s¥an 7a9
So therefore the X713 queries how do we assess the damage the 7" 27V wanted
to bring upon the husband; do we say that we assess the wife’s right, meaning

how much one would be willing to pay for 1?50 no7 -
= 5V N3N 7O 139NT INUN DI DIYIIN 139914

Which is forty 71», and the 127 27y will pay the remainder which is sixty 7% -
- AYINY PPINY 1Y IR PHoon axwn Sav

Because through their testimony that he divorced his wife, they were causing

him to lose the entire remainder which is sixty i -
= 121NN D IMN 129NN 1PN Y9NV

For they were making him liable for the entire $73¥n> which is a hundred 71», but he
could have kept the 712105 field by paying only forty 711, which is a loss of sixty 7.

'* When the husband sells it to the buyer, he can begin deriving benefit from the produce of the land (so even if in
the end the buyer does not get to keep the field but in the meantime he receives value for his purchase). However
whoever buys it from the woman has to wait until she is divorced or widowed to receive any return on his purchase.
> Even though when she sells 7?50 27 to her husband the aforementioned two difficulties do not arise (for the
husband [the buyer] is 72w prmin, and he will eat the N17°9), nevertheless the husband will not pay her more than the
market price (the price she can receive from others) where the abovementioned two difficulties do arise.
'® The exact numbers of 50 and 40 are not that relevant; the main thing is that the husband will receive more for
selling his right, than the woman will receive for selling her right. Therefore it is beneficial for the husband that we
assess her right and deduct it from the value of the field, thus making his claim against the 1111 07 greater than if
we would assess the value of his right. [For instance if his right is worth 40 and hers is 30; if we follow his right, he
gets only forty, but if we assess her rights he receives (100-30 which is) 70!]
17 The n"a7 N3 amends this to read 1°7°00n 10 R (instead of 17°05n RW).
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= 901 YNYUN PIINNT NIYID

And the language of the mw» indicates so, that we assess the woman’s right (and
deduct that amount from the full value of the 7712105 field) -
- BauNa PRYT $RUN YN IN DININDY DNV 15199 N¥I1Y DTN 719 PIIIN 5INPT

For the mwn states, ‘we assess how much is a person willing to pay for the
7202 taking into account that if she is widowed or divorced’, this indicates that

we assess the woman’s right, and the o>7v pay the difference between the full value of the
field (which is a hundred 71n) and the value of her rights (which is forty 171n), which amounts to

sixty 713, This is one option; Md01n now explains the other option -
= 2NN Y5 OHYY DITYN 29NY NYNI DIV 1999IN XY NN NIYTIN

Or perhaps we do not say this; to assess the woman’s value, thereby obligating

the witnesses to pay the entire 7712105 -
= Y971 NPT MII \IN

Less than her speculative right as I explained, we do not say that, because -
= INM DI DTV 1D 1Y ND NNIY

Perhaps the husband would not have lost so much by their testimony, because -
- YYD NURA DIVY 1Y PPN 799 PNpran mat AUNRN 1Y 99190 XY RPYT

Perhaps the woman would not sell him 7352 n121, so therefore we should not

assess her value as I explained -
= 1137393977 N2 9991 ON P90 MO 1Y 1IN? N1 HYaa IV NON

But rather we assess the husband’s right; how much money people would give

the husband for his Yo% n1ot if he will sell it, which is fifty 17; this is the value of
the husband’s right in the 720> field -
= AIN PPTI09N THY D11 1Y YWY 9

That that is how much the 77 2979 should pay the husband, since that is how
much they are making him lose.

mMdoIN responds to the anticipated difficulty:*
=YNI PP0UYT 999919 IND 1953010 2aw9n) 1N NYRIND OXY)

¥ See footnote # 20 & 21.
' There is certainly a market price for her rights to the 72103, which we assume to be 40 7. However she is not
required to exercise this option. She may chose not to sell it (at least not) to the husband. The only way the husband
can receive the entire right to the 721> (less the 40 711n) is only if she sells it to him, then since the 721> field is
entirely his he can sell it for 100 711 and realize a gain of 60 7712 (100 less the forty he paid his wife). However if she
sells her right to someone else, the husband does not own the 72102 field for the buyer also has rights in the field
(just like the woman had), and so the husband can only sell his rights which are worth (only) 50 17r.
%0 See previously in this MmpoIN, by footnote # 18.
*! Presumably meaning that if she is 7w73n1 W 727801 the buyer will receive the 72105 field; indicating that we are
discussing the woman’s right; this is not necessarily so, as 9010 continues.
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And when our mwn stated, that we assess how much someone is willing to give
for this 772103 with the understanding ‘that if she is widowed or divorced’, it does

not (necessarily) mean that we assess the woman’s 22 yalue -
- 99D 7NN NOAY 1 N2IN93 11799 A¥I DTN NN PN PAIND 197 NN

Rather this is what the 71wn is saying; we assess how much a person is willing

to give (to the husband) for this 573102 which is speculative (in doubt) -
= NHYA NIYI NNN DN X¥N NN VNN IN JNIINNN ONY

For if she is widowed or divorced she will collect the 712115 field and the buyer
will lose his entire investment, but if she dies (before her husband) the husband
will inherit her (rights in the 720> field) and the buyer will own the entire 72105 field -

219 33051 IPOBO NIST °T N0 PR
And 7''"2 assesses this 22 n12t and the 727 0°7Y pay him this amount (only),
which is fifty 7n.

SUMMARY

The wife’s value in the 772102 is less than the husband’s, because the husband is a
Pimn and is consuming the M7%. We can either assess the lower value of the
woman’s right and deduct it from the total value of the field, and that is what the
7T @7Y pay him, or we can assess his value in the field and that is what they pay
him.

THINKING IT OVER
Is there a difference between >"w15 and NMd0IN in the explanation of 7nWw 7¥°37

22 The fact that the mw» mentions "1 7928101 oxw first (before 7nn OXY) right after 121 10°% 7¥17 Q7R 713 would
seemingly indicate that he is willing to pay this much, speculating that she will be 121 7978n1. This must refer then
to a case where he is buying the woman’s rights. That’s when he hopes that she will be 131 79781,
> mooin negates the reasoning in footnote # 21. The mwn is mentioning 7777XN1 oxw first because that is the
speculation which lowers the price of 17°50 n131. The buyer tells the husband that the price must be low for there is
the possibility that 797803, where the buyer loses everything.
 The n"a;7 M amends this to read 11 2w 721022 (instead of ¥ 721N32).
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